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Timc: 3/ Houts Marks : 200

Instructiﬂns :

(i)

(ii)

Each question carrieg one mark
98 BHS 2§ E'n'ci::?’ o,

Choo'sc the correct or most appropriate answer ffom the given options to the following
questions and darken, vith blue/black ball point pen, the corresponding digit 1, 2,3 o 4
in the circle Pertaining to the question number concemed in the OMR Answer Sheet,
separatcly supplied tq you.

BHS A DS OHS 2 Tis* HOG0S JBIFTIIND E T 00D
®os 1,2,3 88 43w QNS OMR 85 :;_Lééweﬁ‘ ©%) Sopgh Aeddor e Ho20R8
513K a23/28 @S FonodS 30 &3HRTA0D VoDIB.

; 1 !
A person gives 475 % of his property to the elder son, 325 % to the younger son, 5% to

a temple and the balance of Rs. 6 lakhs to his daughter. The share of the younger son
(in lakhs of rupees) is

1 1
a8 538 S8 e 475% D K8rEI, 325% DY) S8, 5% w8 BT 0rIS

Q) DADS 8>, 6 viod S35 Forydo. D) HodrdoR arér (08 6:13‘0‘536;)
(1) -2 (2) 6 3) §3 4) 15

£ 25% of a number is added to another number then the second number is increased by
10%. The ratio of the first number to the second is

o€ Bomgest 25% & S05°€ Dopgo OVB I3 ©Bod’ dowg 10% DHHS0H. Book

Sopgsd BokS Hogsd RL]
(1) 12 2 2l 3) 25 ) 5:2

s @ o 3

of his monthly salary. His salary was increased by 20%. He increased

Aperson spends 80% :
y 20%. Then, the percentage increase in his savings is

his expenditure also b
0 538 083 Fo dgoS’ 80% PP DET D, 2EIE Jodd £80 20% DOR0S. VEKH &

2D Srd 20% RESRY B, O VEH erdd FS DOHEL TS0
) 20 3) 25 “4) 30

B
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4, A class has two sections A and 13 having 60 and 40 students respectively, 1845 of the

section Aand S5% ol the seetion B pass inan examination then the pass percentage of the
(o sections together iy

LE $6800'7 Vo WEDW A, B od' Sdisme 60, 40 Siel uor

. A |
& a,ru“.l)”j o R ol(k’:u

- ol o L% (L /S » 4 ro
A DS 45%, B RKst 55% QO pden 1.:-.’1.:,364. 1 Tods LGS 100 Hhds Tio
- (] ” L. wle -

PZEL (2) 52 (3) 54 (4) 31

e T — P ——— - -a .

5. To pass an examination a student has to sccure 45% of marks. A bay getting, Z‘J‘i rarks
fails by 20 marks. The maximum marks for the examination is
o8 HOES* ©lgss ergd 45% Sordyes Foddon woebd. 295 3 S, 5005 w8 IS0
20 Sdy o0 S0 HOK Sy, o BOELs KOG SHrdy e
(1) 750 _sz; 700 (3) 650 - (4) 600
6. a fraction if the numerator is increased by 23% and the dunumin;uur is decreased by

32% we get new fraction -]-,7 . Then sum of the new fraction and the original fraction is
13
28 D5S" vard) 23 Td0 Lol FT) 32 2do 8y 5By B8 Hdo 17 vdvdo & B8
' aél"' wbes Do Indo
2348 2834 2483 i
M Zio9 2190 2091 2001
o The total number of students in a class, with 44 girls and the rest 45% boys is
G4 .;ao&r z:ﬁaém D005 45% H008 erendy Gd) S888G'A Jndo AT R Loy
(1) 85 ' 1) 80 (3) 76 @ 74
There are 60 students in a class, One of the students weighing 40 kg was replaced by

another student, Now, the average weight of the students increases by 0.2 Ky, The weight

of the new student is (in kg)

2.8 BERBS* 60 508 DOrgBs b, Hogt 40 SNy adio w8 Io°g) ndes
4 rg‘-swgg 2 BOROS* BOT G, !ﬁﬁjgﬁ b Sk B 0.2 Batrdnes 55 wonlb.
¥ Fg Jrrgh wbad, BS Nt ‘

(1y 43 A sz Gy sS4 . @ 6

A e
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9, The AYeTage of 40 numbers is 35. If two numbers 44, 45 are discarded, then the average
of the Femaining numbers js

40 BOREO Brits 35, i8es® Bosks Sopgen 44,45 FORY ADS Somge BN

(1) 335 (2) 34 £) 34.25 (4) 34.5
e e S

10. Ther e arc 4 numbers, The average of first three numbers is 56 and the average of the lasgs
three is 49. If the first number is 48, then the last number is1

4 RomgTon. ES* Aas Surds Somge DL 56 20K 056 Kardd SoPge
Rfin 49, 8BS Jnsese Qopg 48 wowd D36 Jomg
(I) 40 (2) 55 (3) 30 w0 27

I1. Two persons A and B started a company with capitalS Th the ratio 7:8. At the end of the
business A and B shared the profit in the ratio 5:4. If A kept his capital for 10 months,
then the number of months that B kept his capital is

A 205 B o 986k Sggen 7:8 QBT DeNwd 1Y 28 §01IY |FEodomrss.
Tgrorodos” SN erginds A, B e 5:4 NQGS® JohHan. A 85 Dén2dd
10 3ven &0od8, B &85 Dinwdd ¢ods Jve Sowmg

() 9 2z 1 (3) 6 @) 5

[2.  Inapartnership A, B, C invest capitals in the ratio 3:5:7. If at the end of the yeaf,Jlthe 'tota__l
profit is Rs. 90,000, then the difference between the profits of A and C, in rupees, is
28 ariidgogoes A, B, Cen:3:3:7 IES* Dand ird. So5¢)0m080s* Bndo erso
& -92},000. wond A, Co erare g Bto, Srdrahedst, |
(¥ 24000 (2) 18000 .- (3) 12000 (4) 9000

13. A, B, C started a busincss with capitals in the ratig 4:5:6 which are kept for 16 mo’hthS,
12 months, § months respectively. At the end.of the business, if B’s share in the profit is
Rs. 1,35 060 then the total profit, in rupees, is :
A, B. Cen 2% ;,)-45;3“606‘ 4:5:6 AN8S* “i;.éagaacssu;éa 3&3m 16 JIven, 12 S,

R Borwo Somd. Hosd)Todod’ TTHOST By, e &, 1,35,000 5% 3ngo erego,

S rofeest,

2) 34100 @) 367000 A 387,000
() 300000 @ -
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14. A, B enter a business with capitals Rs. 3 lakhs and Rs. 4 lakhs respectively. At the end of
the year A receives monthly salary for looking after accounts. At the end of the year
A and B receive their shares respectively equal to the amounts when the total profit of

Rs. 1,96000 is divided in the ratio 4:3. Then A’s monthly salary in rupees, is

A, B oo 363 &, 3 ofen, r. 4 0fe0 Do’ a8 §ardo (@8odomrd. greceld
S0 Joddorogost A IR0 2o SK 0. dodeorogoes® SNS Jogo
ergio 8. 1,96,000 0B 4:3 dxfe* IFL0DSDyE STy Jogos SHdm A, Bes 570

T WoEIT)E. WP A BnE), I8 Edo, rarodesT,

I Z
Q)J 4015 - (2) 4083"3- (3) 42715 . (4) 4500

15. Two persons A and B enter into a business with capitals in the ratio 4:5. At the end of
5 months A withdraws from the business. At the end of the business, if they shared the
profit in the ratio 1:6, then the number of months B’s capital was used in the business is

agsd Sg&en A, Beo 455 AYQS® Dipathod af TEIo) Goowrd. 5 Jve
Stoad Aag>o Sood SJySoanio. TG0 DEES orer) T8 1:6 0 8s* H0t55008,

eas:.BaCSJ B 88 ¢n208Q a"gﬂ‘doé‘ oS Jvw doag
) 24 (2) 18 3) 12 4) 16

1
— of the amount, B

16. A certain amoupntds divided, among three persons A, B and C.'A gets 6

1 x - \
gets — of the amount atxd C gets the remaining amount. If C gets Rs. 2800/- then A gets

" | 1
;.inﬁ‘,gd_)- 55553.-:;3 A, B, Cos af zﬂ'zﬁm&‘ﬁ) HoDT . &8 @‘&’m&e‘i‘ g erifo A8, Z a&0
B8, 250% arsoy C 8 @ands. C8 SO arsooy &, 2800/~ o, A8 S)S oy

 fys00sT T (), 1000 . . (3). 1100 4) 1200

e T ) e B o T o8
(1) 3.03 2) 03 (3) 0.03 (4) 0.003

The meés _charger_; for42 students for 28 days is Rs. 47,040. Then the mess charges for

35 students for 25 days, in rupees, isequal to - |

42 208 drrgRes 28 FOR DI Grbeo 47,040 &ri w08, 35 S008 dorghHow

25 Farolh vy 2B T, ErFrobeest, ©

(1) 37,250 (2) 35,000 . (8) 32250 (4) 30,000

—seald V0B -

Vi

18.
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J' + “, 2_\‘ = 3_]’ = X ¥V

———

19.
A=y

= 3
.3 (2) 5 ‘3) 5 ) -5

.-'-.--_'_-_-___-_ﬁ-_-___-__ e —————————— - -

20. A person P started business with some capital and another person Q joined him four
months later investing 60% more than the investment of P, If Q gets Rs. 5000/- more
profit than P at the end of the year then the profit of P (in rupees) is

§od DERDEE* P P 588 grbo (@soDodm G dogd T Jvesd Q el 358
P g0l 508 60% d89,8 pinwdst oy’ Bord. Sosdioodos* P god Q&
&= 5000/- Qsﬂ:&;’) oo 5 wdyd P Qwg), oo (Er>odest)

(1) 55,000 - ) 60,000 (3) 65,000 4y 75,000

21, Ifa:b=1:2, bice=3:5, c:d =5:4 and e:d = 5:6 then a:b:c:d.e =
a:b=1:2, b:c=3:5, c:d = 5:4 50050 e:d=5:6 wo2d a:b.c:d:e =
(1) 3:6:10:8:7 2y 9:18:30:24:20
(3) 15:30:50:40:48 4) 1:2:3:4:5

22. Ifthe average age of three persons is 20 years and the ages are in the ratio 2:3:5, then the
age (in years) of the youngest among them is co
S320258) ;5555_306 50700 Sa%Ryy 20 Josdoren, 378 Scbdge ARG 2:3:5 wond TS
©Q) D) Sadyre S8 $5030%9) (doSdyores’)
@ 12 ) 18 () 10 “) 8

(2_%) In a joint business A invested thrice that of B and the period of investment of A is
twice that of B. If the share of B in the profit is Rs. 40,000/~ and if A donates a sum of
Rs. 50,000/~ to a trust from his share then the amount left with A in the profit (in lakhs of

rupees) is

28 &304 3‘553"(5
$erd8 Bododenrm @8 T8
&, 50,000/- wio w LHE TR %,

a 20 - et R ) ¥ 4) 1.5

ot ADEned, B?%w&g Sordodevotyr, ADARRA s*oo Bliywd
2008 THOS' B g &, 40,000 /- wow, A 85 Trérest
TPt AB DondS ridny (V8L Erdrcie?)
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24. A person A purchased a watch for Rs. 4800 and sold it (o 344 8% profit. B sold it to
C for 12% loss. The amount paid by C. correeted to nearest rupec, is

A e w8 358 w8 fBcirog) 4800 & §R o) B ud 5588 § mdo arwrdb wloyb.
oA B, 12380 3308 C 8 winyordd. CBYodS 3y, 85l drond 5568,

(1) 4784 2) 4691 |

3y 4562 (4) 4448

3 = T--
25. 17-3 workers can dig a canal of 3150 m long in 36 days, then the number of workers
required to dig a similar canal of 3900 m long in 24 days is

175 008 3336 3150 Sosg SEHF) sewdd 36 Fad! $55160n3, winSosd
3900 Sob8 SEHF) Senss 24 Sord SBcErA8 SHOVS DTV Sowg .

(1) 275 (2) 300

() 325 (4) 350

Ty 23

26. If a train runs at a speed of 40 kmph reaches its destination late by 11 minutes but if 1t
runs at a speed of 50 kmph it is late by 5 minutes only. Then the distance travelled by the
train, in kilometers, is

2.6 Bexn Kodako 40 8.2, 3o’ Bosred D 85 fSrgd) 11 ddndren sodgor Ddhsolucd.
5 Kot 50 8.5, BKos® DoSrdn vh KSrg) 5 dSodrew S @ sodzomr
Brgooinod. wHYE Do @PASre3odd drdo, 35 bdes”,

) 20 (2) 30
(3) 40 | (4) 50

27. The following table shows the marks of the 20 students of a class in Mathematics. Then
the average mark of these 20 students is

Marks 80 85 90 95 100
"' No. of students 2 4 7 4 3
L& S6R05*D 20 S008 DTERY ABsrgost ST Srdyen BoI QIS aIb.
& 20 08 dEgGe HiLn S0dy,

Sy 0 | 80 85 90 95 100
Dorge dopg 2 4 7 4. 3
(1) 89.5 (2) 90 &) 90.5 4) 91 P
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28. AD article has markea price Rs. 3600, By giving two successive discounts of 10%

cach mSte"‘}d of giving a discount of 20% on the marked price, the gain of the trader,
in Tupees, 1s

28 32 I8 & 3600 dri. @O 20% BRY,008 Bddwarr 10% TTHYS Todk B5ER
BR,082 ABgdo argor 5EKE ST ereo, ErPeROL,

(1 138 2) 24 "13) 36 (4) 54
11 & 713,
729. The average of the least and greatest fractions among =5 = o> 7 18
13’6’8’ 1
U05edely
J‘:}g’gg O §0% Sobakn KOG DI B
51 41 51 4l
2 i = 4
M %o O 7 &) 3 ST

b
30. If aand b are positive integers such that b < 100 and 72.48 = a[24+ 100) then a

iy , R ) :
= | wcedom o8 @dYdd
83 roosen 4, b eo, b< 100 508050 72.48 a[24+100] 3305 a N

atb=
(1) 15 - @
.- - 3 . |
31. The greatest five digit number which is a perfect square 18
| D) e:;ﬁcﬁe.’m ey @898 w0l YOO Jowg
(1)‘) 99856 : (2) 992255 @) 90721 (4) 93025
| -

17 3 19 @ 21

) . 30° = -
120 162+ 172+ 18¥+ . T30 | . _
2716+ 17 5 : 2. 7725 (3) 8215 (4) 9535
1) 621 /— ' —_— i
(1) : D can il around a track in 24, 48, 60 and 96 scconds rcspcctwely.
33. Four persons A, B,C2 oint P on the track simultaneously. When they mect at P again for

All of them ?taﬁtzzanimbcr of rounds made by C'is )
the second time 1 B.C D oo &8 &8 Sty Scodm 24,48, 60, 96 DEFS* HRGKOD,
FEoddr DEsTO0 o B0% 8 o * -
e spn et QI TR L

W 12— e
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34. Ifnisany odd integer greater than 1 then the largest natural number among ch following
that certainly divides r.(n - 1)

ne38 1 808 TEEN A3 Wddong vand fod St me==1) 2 Y \50-'1“ o
o8 Vo
(24 J AR (3) 3o H W
35, The totel number of divisors of 2733 is (including 1 and the number given)
2°3%5° @), Fare (Fdwrose) fopg (1 Looaie afN Sopgd Saop§)
(1) 60 (2) N0 ) 100 #) 120

e e g i,

36. Two positive integers x, v have their geed =12 and Lea, = ST8E Wy o> 12, theny by =
Bod SHyToser X, ro A = 12 S3D = SIS 3 > 12 sond, udydo ¥k

(1) 744 Q) 684 (3) 3516 () 420

37. The traffic lights at three different road crossings respectively change alter every
435 seconds, 75 seconds and 100 seconds. Ifall the traflic lights change simultancously at
9:25:00 hours, then the time at which the lights again change simultancously
Do vssest sroheen. o EOE By 233 92500 Sobow I0d, © B
280 S5 S0

(1) 10:05:00 (2) 9:50:00 £ 9:40:00 () 0d0:S

s Fog 55 $odDo 3§ LrDF Dhy SHIM A5 DERY. TF REY S0k
iy

-

38.  L.C.M. of two prime numbers @ and b, (@ > b) is 319, Thenya = 2b =
ok BTy JSopgen, a308a8 b, (a>h) o L0 _g-_ts‘}. WP a - 2b =
M -8 @ 9 3) 8 4 7

39 .The least number which when divided by the numbers 12, 16, 20, 25 leaves - as remainder
but when divided by 7 leaves no remainder is
:&oa:ge:: 12, 16, 20, 25 o3 THODERPS Tk 4w Aodan 73 erhoddiy R
SK0T $038, ©8IN) JoV§ ‘
(1) 14006 (2) =08 (3) Mg S 1

I— " TS

L Y
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9

AR-

gn 102 573 BT TR0 nimbers is 125 Their and L.C.M. are respectively 25 and 130
2S. Their HCE P i
To- = ¥ of thefr reciprocals i
- i \.j*.pl\.hma-l-:‘ 15
o83 SOBEL Sane I3 == S e > 70, ey
3083 =y 22 123 =8 13 = <o 55000 ©0 383 25 Laaks 150, 95369,
; e
o BOTIO 2R S, Soofas

4 T; 7 s
= =) 30
. . 1
3) n ) an
20 (% 30
I
2]. Apgsm?P

2lls an anicle 10 Q 21 2 profit of 3%: Q sells it to another person R at a profit
: her pe for Rs. 46303 by making a profit of 5%. Then the

—_ L E . e A - -~ - — - -4, a2 0 eTEoTs a8
Pul ;8 28 3E3% Q8§ 5% oad slym Qv 33 RE 5% oardd wlryd,
= Riclo & 46305/~ o S8 el 3% ofo Torde. & SEHR0 Toss 55§ TY)

X000 _ (2) 39000

iy -
(3) 20000 (4) 42000

23 1n 2 school. the ratio of the number of boys and girls is 3:2. If 30% of the boys and 20%
7 tha siric are scholarship holders, then the percentage of students that do not get

scholarship 1s
s o8 ARS8 32 zrendhos® 30% 20088, TO8ees” 20%

P %) 74 (3) 20 @ 26

- -

\

_ ] coins of Rs. 5/- denomination, n coins of Rs. 2/- denomination and
A B2z contams Jn{(}cﬂﬂ mination whose total value is Rs. 630/-. If m:n:p = 2:3:5 then the
P eoms i;;' Rs. 1;' Jlues Of RS- 5/-, Rs. 2/- and Rs. 1/- denomination coins in the bag is
rztip of the total Vi

Lpe ST M, C> 2/- DexsSKes oBen nSHodas & 1/- dendie

|ad

24 SoDé® &r. 5I- 30 2
—n g0 DB & 630/- o a$n. monip = 2:3:5 wond & 5/,
sZe p &od, 8 F5 ey -

v 5:6:10 () 10:5:6 4) 10:6:5
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44. Ifx:y:z=7:8.9, then Fud B
y zZ X
x:y:z="7:8:9 wong, -@:33@ x.2. i
y z x
(1) 72:63:36 2) 56:63:72
(3) 648:448:44] WS 441:448: 648

45. x,y,z arc positive integers such that x> +)° + 2> = 8072. If x;y = y:z=3:2, then y =
§5 JTOFTW X, y, zen, X + ) + 22 = 8072 eogénanon, xix = yiz = 3:2 ©o0d
wdydo y=

(1) 18 £ 12 (3) 8 4) 6

46. Two positive integers whose sum is 143, cannot be in the ratio

\
S0t §& FgyosTe Swngo H43wand, & Jopgen 1Bod AQNES® ok

w21 2) 8:3
3) 67 4) 4:9
3 4 25
47. If 8 (27) : =29.3% thena:h =

(36)°-9*-(18)

8-(27)"-6°
(36)°-9*-(18)*

=2"-3b @ond e-séjca;_ ab=

1) 1 2) 7233 (3) 8l @ 32

e ————

48. Given y is inversely proportional to the cype of x and that y = 2 when x = 3, Then the

1
value of y when x = 5 1s

y o386 x cﬁxxﬁ, 0TV8 D@i?ﬁ:‘:&)&éo@ Sotar, x =3 @m}&’)ﬁjﬁb y = y) @@modﬁ
RENE. IV ¥=3 BONIIFE Y Deyys

(1) 234 ' ) 32‘—4““‘\_ (3) 423 4) 432

12-c
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49. If PRl and /, m, n arc any positive numbers then these ratios arc also equal to:
x _y_z ;
T D080 1, m, n e $F Sopgen ©wond WIYK Bob ISt G JAYBO
ééﬁémcﬁoiga
: 1

2.2 - 1

(1) (! X miy? 4222 )2 & ( I +my? ezt 2
la® + mb* + nc? | PPa® +m®b* + n’c?
!

(3j Ix? —i—my2 +nz? )2 @ ( bcz +my2 +nz?

la* + mb* + nc? \/az +mb? +nc?

4
50. If55% of 880 is 80 more than 3 of x, then x =

4
880 &5* 55 wéfo x &S° 5 S0 E7) 80 89S @008, edyd x=

(1) 202 (2) 303 (3) 404 (4) 505
51. If the number 19585*2, is divisible by 3, then the smallest digit in place of * is
dowg 19385%2, 3 3 rhobadd, eNyd * PSS’ God ©8 DY) ©os
(n 7 @ > @3) 2 A4) 0
52 If the number 45135%2 1s divisible by 8, then the smallest whole number in place of * is
dowg 4513§72, g & erhodndd, eiyd ¥ FEins’ &od ©8 DX g dowg
Ol @ 2 3) 4 @ 6
53 If 4" October 2008 is Saturday, then the day of the weck on 28" May 2014 is
(1) Monday (2) Wednesday  (3) Friday (4) Sunday
2008 $ BoSEyd0 ©EES 3 A5 B8 #9E00 Sl 20145 so88)60 B 28 5 BES wdly
JGo
o s, O . Bowgn, @ s,

13-C
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54, The time between 2 hours and 3 hours, when the minutes hand and hours hand coincide

is 2 hours x minutes when x =
. . P = A 2{/ i , ool -r
- 2 Yy ey S0 Beabd 51050 2 dobio x OBdroassd
2,3 Mol SE5S* Hobodnw, Qe "-W_ e

A=
80 60
120 ~ 100 3y o (4

LT " W Vo ol

clock overtakes the hours hand at an interval of 63 minutes,

55. The minutes hand of an incorrect ‘
Then the time it gains in a day, in minu(cs, 18
2,& 3859 KBosrEos® Ddnare Snwd K8 63 QAnrewb 2630 fobow ..‘333&__.:)?53 oéndlos,

iy 288G & Kaokrdo reiHd 5700, QBT

8 6
S6— 54 48—
(1) 3677 (2) 39 (3) ) 18”

36. Two trains of same length 80 meters, running in opposite dircctions with same speed
cross each other in 3 seconds. The speed of each train is (km/hr)
2g

28 89 80 Dovrd o Bod B¢ 28 Ifod’ IEIBEE™ (BAireddy 3 DEDS &
D 258 o338, & 3¢ Ko (8.0/K0.0S")
(1) 66 2) 78 (3) 9 (4) 96

| _'5'7.;' "Two persons A and B are 45 km apart. If they travel in opposite direction to cach other,
they meet in 3 hrs. If they travel in the same dircction they meet in 5 hrs. If A travels

faster than B, then the speed of A, in kmph, is

PG 5800 ASBcI0 Bew 458.00. drbods® Gamh. ardo 280885 ISBES Biod”
@or8a 3 Hobods® EerdoBolrd. 36 o8 8¥¢S* Hoirs R 5 fobud® Suodatolrd.
B g5 A Siforr (Sosredy, A B0E), 3o, Kotk Bt ot g,

() 3 (2) 6 3) 12 (4) 15

58. Acap reached a distance of 340 km in 4 hours, It travels some distance at a speed of
90 kmph and the remaining at a specd of 6() kmph. Then the distance travelled with the
speed of 60 kmph, in kilometers, is "

o8 578 3405.213. 8roQ) 4 108G Bsk508. wa Eoddrod) fobk 90 8., oG,
2O EroeQ) ot 60 8. Brogsn 4 snesonod. wiyd> KoL 60 8.5, Sriod’
Bosre30Ds Erdo, BS' DL,

(1) 40 (2) 120 (3) 240 @) 300,
__—-—___—__K L -
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BB 59 5 508050 60 3 [‘_é"éeiéo 22005508,

: _-__-—-_'_'--—._.______
N?' of students passing Pass Percentage
) In the examinations of students
Y0 DgoS* e wand S8R wans
e g0 dog DTHe Tdo
P 360 20
Q 520 80
R 540 90
S
420 8

59.  The total number of students appeared in the examinations is
D0Een | AT ghe Ingo Jomg

(» 1840 (2) 2400 (3) 3200 (4) 3650

60. The total number of students who failed in the examinations from the schools Q, R and
S is
Q39,0 Q, R 50805 S &00d d8§ws* ¢8en 520 Iwdo Tghe dowg
(1) 370 (2) 320 (3) 260 (4) 240

61. P lendsRs. 15,000 to Q for a simple interest 8% per annum and Q lends the same amount
to R for a simple interest 11% per annum. Then the gain of Q in 3 years, in rupees, is

15,000 drdrososs deosd 8% FSrS58% Bens Q8 P ey amyih 58050 oF sy
Fendd 11% &Sy 34 Bend RE Q wdyne . eIy 3 doSdores®, Q8 $B)

erglo, Srarades

(1) 450 (2) 900 (3) 1350 (4) 1800

imple interest. Then the -
o amount became Rs. 8500 for some rate of simp _ !
62." In 4 years Rs. 6(;3?%. 1200 to become an amount of 1825 at the same rate of interest is

iod required | ! i
period req (2) ﬁyears (3) 4years (4) Syears

sy 4 BOSHTR Fog Fsrsg 5GBS aRIsys Ando
2 3 ;’;éﬁé&)t& @Jen [200 &rrosen, S0 18;5_'__"{_$rﬁ=orbe»

¢)) 5 years
9:‘6&'_;6000 & 5
8500 &raroser @O

0308 sS5odd eien p 4 é.‘gééégc"m
¢ (2) 6 5053‘5‘\)010‘3 (3) 4 dOS’Jéﬁ)U’w R ?

D SETS e
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63. A sum of money becomes Rs. 1,08,000/- after 3 years and becomes Rs. 1,92,000/- after
9 years on same rate of compound interest. Then, that sum of money is (in rupees)

§od ﬁ’éng}z@ WESG T 3 DosBBIne St &, 1,08,000/- e, 50805 9 HoSd)ESmes
8. 1,92,000/- @088, wIYE w Iy (Brrohes?)

(1) 96,000 (2) 90,000 (3) 85,000 (4) 81,000

64. Asum ofmoney is doubled at some compound interest in 8 years. The number of years in
which the amount becomes 4 times with same rate of interest is

28 50y Fod SESFEL0G 8 JosH)sined® Toboden wHHod. ©d BESE Bend’
& Ry Teofiodes 3@ sHedd dodEESwe Sopg
() 12 2) 14 (3) 16 4) 32

65. An amount of Rs. 5,00,000/- becomes Rs. 5,51,250/- on some compound interest
compounded half-yearly in one year. Then the rate of compound interest is
28 Sngso &r. 5,00,000/- Fod SE5& D ©8 vFH0SHTIS SESG §F 28BS, o8
B0SHEI0SK &>, 5,51,250/- wonds. wdydd SIE5E deo
(D 12% 2) 10% 3) 9% 4 8%

66. A person invested in three different schemes A, B and C at the rates of simple interests
- 8%, 10% and 12% respectively. The amount invested in the scheme C is equal to 225%
- of the amount invested in scheme A and is also equal to 90% of the amount invested in
scheme B. If the total interest earned by him in one year is Rs. 48,000/, then the amount
" the person invested in scheme C is (in rupees)

a8 5g8 Sawrds Iog Ry Hen A, B H08cin C od® S63m Fdrdssd St 8%, 10%
508050 12% 08 Digad wTd. HSH C&° DPSGag) 0 A ST DEI daxyes*
225% & 38r$50 Hobckn O B & e G’ 90% & JSrIS0. 28 JoSE)EEw
S50, & 5588 &, 48,000/~ Bngo 5§ 5, w1 S C&* 1S 3ndo (Errched?),

() 1,70,000 ©  (2) 1,80,000 (3) 1,90,000 (4) 2,00,000

67. - A Bank lends Rs 30,00,000/- to a person P at 12.5% simple interest and Rs. 10,00,000/-

to another person Q at 10.5% simple interest, for ¢ years. If the Bank received an interest
of Rs. 16, 80,000/- at the end of the period ¢, then ¢ =

o 33’50§> P oo 3588 8. 30,00,000/- 0 3r8r8558 12.5% T35, So8a%0 Q@m
_ 5§§§ . 10,00, 000/‘ SRS :"553"5555’5 10.5% AV, rooéé‘adf)ﬁ&&) @Iy aaao&
@ sw:'m £4r ©o® SET ﬂ‘go&éo 8. 16,80,000/- 5§ 3, 0398 1=

1
o Men G 2) 3 -
M 23 @ 3) 35 4 4
e e
- 16-'Cr-
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68. Two persons A and B undertake to paint a house for Rs. 54,000/-, A alone can paint the

house 11 40 days and B alone can paint the house in 45 days. A and 13 along with a third
person C complete painting in 20 days. Then, the share of Cis (in rupces)
A 30005 B o agdh Sgien, 8 0838 Sord So0ERE 6. 54,000/ o 23870,
Ae$,d © 599 40 Swos® Bobiods, 50080 Bald © 533 45 Gwos dabhod,
SordS $558 C I cs0d, ASbain B ew, Rot38 o Johddn 20 ared® g ST,
wHyE, © TS C Aog), - (Erdchos’)

(1) 6000 (2) 5000 (3) 4000 (4) 3000

th

1
69. A person A takes 7-2- days to finish B of a work then the number of days required for

A to finish the complete work is

5 1
a8 558 Aa¥ S 3 S S0 HAY 7-5 Gars® g Bohred. e Jngo VI T8

BoHE 8 A 575028 Sare Sopg
(1 9 @2) 12° 3) 15 4 18

70. A and B together can co

same work in 24 days. T .
B works for 11 days and C completes the remaining work 1

quired for C alone to complete the work is
L€ $29 20 Seros® FroBabiod. B 50050 C oo §0% $d3A

Kerth. e HID AS0Ge0 DY 8 Sraren SIVAM. SSad 11 S'areny
529, 22 Feversst C4rd Band. viyd, & 53D Cagd

mplete a work in 20 days. B and C together can complete the

he work was started by A and he works for 8 days, then after
n 22 days. Then the number of

days re
A 508050 B en 892
24 Srrees® HrEBoRN
B 4@, & S8 DHOS
5r8 Bodmds Sodd Owe Hopg

(1) 40 @) 36 (3) 34
n complete @ work in 40 days, A sccond person Q can complete the same

Both P and Q work together for 14 days and then P goes away. The
¢ Q takes to complete the remaining work is

on 40 CwoS' FoBchRud, vd K9V, QUi DEE S8

4 32

71. A person P ca
" work in 35 days-
number of days tha

g 3
P edo aa; fsf;;&ﬁa@- p, Q& ag EOY 14 Glapen 9 Ans g, PILYr L.
g g oo QU Cores |
) } 10+ (3) o3 @ 8
@ 13 r \

1 :
1) 12—
17-C


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247) AA Google Play
AR_Z Booklet Code : C
complete a work in 16 days. Twenty women complete the same w.ork in
2. TS e umber of days required to

18 days. Ifall these men and women work together, then the n

complete that work

2 € 599 20 508 YHen 16 Fros® DK, ©3 HAN, 20 008 Reo 1

& HEtoes, Heo VoSt 8% HITH, © HID I Bahads SHoNS Earer DOPS
L 8 1 8

1) 10— 2)  D— 3) 9— 4) 8—

) S & 17 G) 15 17

8 Sareres’ B

73.

A person A can complete a work in 15 days working 8 hours daily. A second person B can
complete the same work in 20 days working 7 hours a day. If both A and B work tc_ngethcr,
working 7 hours a day, then the number of days required to complete that work is

2§ 558 Az8 DAV B8 8 Kotoen DAV 15 Sarerds® Jro oo, ©8 HA Bodd
548 B, 2r8 7 otaen S8z 20 Sared” Lrodoored. ASdan Bagd §0d a8
7 fotaen HIVD, VB © HI FHBHEIE SHOVS Tare Jopg

5 3 6 1
() &= @ 9= ®) 93 (4) 10—~

74.

Two persons A and B can do a work in 24 and 30 days respectively. After working together
for some days, A left. B finished the remaining work in 12 days. Then, the number of

days that A worked is
gL Sg8e0 ASo8asn Ben 2.8 DIV, SEB 24 Beren 0805w 30 Feres® JroBoHKLS.

986> §0R FR) Geren I0BIS SHTE, A Iy, B DndS HAIJ 12 Feros®
FoE>d. ebydo ASIDHS Faren
@3 @ 9 (3) 10 _ 1)

7

_ A merchant marked his goods 25% above the cost price and then allows a discount of

1 5,_%.' Then the profit percent in this transaction is

28 3G 85 SnYod FHI 57 25 7do A8, IT HEB0D AR 15 TS0 Ay ot
I, & RIS’ IS erdTEo |

()., 620 2 10 3) 12 % @ 15

76.

TI}Z Ifj‘r?}i{t:azl?gg ?hselI?g ar;l?nrticle' for Rs. 2500 is equal to 7 times the loss if the same is
S_O f .‘O' 2 50 Oen fhe selling price of the article, in rupees, to make a profit of 20% is
28 35“.?2 ;:;;t)g " Bi:%ﬁ;ﬁ‘sm PorB0H ergo, ©d $HJ & 2100 % wSndo
a5o &%) =0 VeTNO. O3 @ Sog 209 S8 o SRHDH
iSRS &8, ErFabod, J WD 20% ogo o o

L2 e 3) 2620. (4 2680

___---‘-—-‘-"""———
18-C
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77. A shopkeeper sold an article at a certain price. Ifitis sold at 80% of that price, then his
loss would be 8%. Then, the profit percent at the original selling price is
28 SFDTRD, o SNHH Fod $88 wITE. & S0HD, 5 GgT* §0% 5 wid
088 8% S50 Siyob. wiyd, wEI8 wden VIS SIS SE orgessn
(1) 20 (2) 16 3) 15 (4) 12

78. A person A purchased some pens for Rs. 350 and sold them for Rs. 450. Another person
B purchases some pens for Rs. 540 and sold them for Rs. 660. Then the difference between
their profit percents is

w8 338 AEQ) e 350 drnes 5 450 Srioso e.*::iwéa*d:. 56’8 538 B 8%
ded 540 Eries R 660 SrdrodHosd wl0ed. T8 erdrae g o
400 200 @_ 200

(1) T (2) 5 (3) - 4) =

2
79. A person travels 3 of distance x km with a speed of 4 kmph and the remaining distance

with a speed of 5 kmph. If the total time taken for the journey is 56 minutes, then x =

2
28 598 x 8.0.08° 3 S0 EroR) Kotk 4 8.2 JHod' N>, DADS Brovd) Hobr

5 8.5, 3fos S HosrBomrd. 3080 BErerds 56 snTer B v =
(1) 2 L@ 3 (3) 4 @ 6

80. The nearest year after 2000 having same calendar as that of 2000 is
2000 poS&y8o SU58 @3 200030088 o 3o HosH)60

(1) 2008 (2) 2016 (3) 2024 \/w)/zozs

oinat 1’0 clock, two coins at 270 clock, 3 coins at 370 clock and so
he number of comns he has put in the box between 6.30 AM and 6.30

&1. A person put one ¢
on, in a box. Then't

PM in a day is
8 558§ D80S0 2,083 ffotoBd wE TER), Body Kodryerk Dot THOR, Jurd Kobewss

Sordly rBoss TEYS w6 teme* BT, wEG' e @yiodo 0.30 R0d Jrabogo 6.30

568 eyt e D TETE e

() 25 2) 42, oo () 60 \/@ 78
/——’——_\‘ : .
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The following diagram shows the expenditure of a company on different heads A, B, C, D, E in
the year 2018. Based on the information given in below figure answer the questions 82 and 83.
2018 & ¥o58)00S* DA Ben A, B, C, D, E 0 2.8 Eo0d Qg ) ST O & §ob
Qo SrPHSod. alyd Jirwrdo wrdorr 825 £0050 83 5 BHKH SSrgTSged.

R{}U

82. If the amount spent on head A is Rs. 90,000 more than the amount spent 0171\'(3, then t]ﬁ,
amount spent on E in rupees is

36 A 2ENBRS Indo, B C wd) BRS o 85 90,000 & 289,33, D6 B
303 &), drdoe’,

(1) 95,000 (2) 1,00,000 J3) 1,05,000 (4) 1,20,000
83. If the amount spent on B is Rs. 1,96,000, then the amount spent on A and E together, in
rupecs, is

5 B B8 26y 1,96,000 &ri w008 deen A0S Ewd Todollp 5% piyBed

oo, Erdobh,
(1) = 3,92,600 (2) 4,08,800 () 432,600 14 4,65500

84. A dealer gets 10% of profit after giving 10% discount on the marked price of an article.
If the cost price of the article is Rs. 9000, its marked price, in rupees, is

LE g0 uf S0P S0 R8BS I0 10 S0 &0t S SHs 10 7do ergo
oo, 1 3P FIHIo 9000 &ri ®ond, rd PESY o, rFrados’,
() 10,800 (2) 10,890 (3) 10,900 £) 11,000

85. By sclling two items each for Rs. 600/- a trader gets 10% profit on one and 10% loss on
the other. The result in this transaction is
(1) gainof 1% (2) lossof 1% (3) gainof 5% (4) no loss, no gamn

Bod SHYedh u8) o) & 600/- 8 wloym, 280D 10% erdfo, STTIP 10% &30
SDob. & rdd 3080 } -
(1) 1% oo é) 1% S50
(3) 5% oo (4) ergdor S8, S{3r B
20-C
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6. Consider the follow Ing statements.

A. If the radius of a sphere is increased by 8%, then the percentage increase in its
surface area is 20.86.

B. Ifthe side of a cube is increased by 12%, then the percentage increase in its surface
area1s 25.44.

C.  Ifthe radius of a circle is increased by 16%, then the percentage increase in its arca
1S 34.56.

The correct statements among these are

(1) A,Bonly (2) B, Conly (3) A, Conly (4) allofA,B,C

808 HISTen BBAB0T0A.

A o8 B¢ ogado § 8o BAB, TR &10dL ITeg0d" DS Fdo 20.86.

B. a8 3030 RBwg), zHzo 12 #do 2008, O &%0de Svogod’ DoHEL
¢go 25.44

C. 28 5 ogrdo 16 =€o 20A8, o 3Fog0” S T80 34.56

& BSSTS duDoBD

(1) A B3 () B, Ci@g (B) ACSEgd @) A B Ce sy

87. The area of the regular hexagon of side 12 cm in square centimeters, is
12 20.20. ghmorr fo B Ay 300, BEEY DoBNbIS',

(1) 21643 2) 3613 3) 643 @) 14443

88. The area of a rectangle is 6 times that of a square. If the length of the rectangle is 16 cm
more and the breadth of the rectangle is 8 cm more than the side of the square, then the

perimeter of the rectangle, in cm, is
2.8 BTG TOFOs 2.8 3S0H ITTES 638, SeEP0 o FEIST) SgSSIBe

353 16 0.0, BEBSGE IEX) 8 %o0.5. Qéozra’)cm@ © 88 308RK0 DigFes,

20.20.08°, :
(1) 40 (2) 48 (3) 96 @) 80
TR e ' z . . o -
89. A rectangular wood piece of dimensions 8 em x 6 cm x 5 cm is cutinto picces of dimensions
2 cm X 2 cm X ._l— cm. Then the number Of[']icccs are
4 8 4
8 20,50 X 62020 X 5 200.00 FOBRMO 8 B nrsdy Joling®
5 3 By X _fl-l-?,;o,ba Fodw Ko B008) e g‘@-d;,-u:bjda G 3% o Dopg

3 0.0 X 3 0.0
| ' 7 ' 3 9 @ 2"
5 (2) 2 () 2

(y 27 S ——
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90. Ifa right circular cone has height 56 cm and base radius 42 cm, then its curved surface

area, In square centimeters, is

11}
Take 7= —
( ! 7

. 2.8 oo :&3{}@ fomod Ry, I 36 0.00 598050 a;’i:var"g@'go 42 0.0 ©oX8 T,
SESo ITOL0, DIY otddLrdes?, ' ) :

(1) 1320 (2) 2640 3y 4620 (4) 9240

91. The cost of a fencing around a circular field at the rate of Rs. 45 per meter is Rs. 15,840.
Then the area of the field, in square meters, is

(Takc ;T=2—2-]
7
o8 5)@;5°6) Joo iy LS 45 & TS 0B 305355'3%%6335 P& +5:840Tmn

wowd, & go 3Togo, SS6Y LY,
(:r= % w é”’m?o&]

(1) 9856 (2). 4927 (3) 1408 4) 2816

92. A wheel makes 60 revolutions in covering a distance of 990 meters. The radius of the

wheel, in meters, 1s

7
(Takc = "—2)
p

990 dodady drdo FSars w80 60 Fheres BB, & JEY TgFgo, Mobode*

’(Ir=2—72- m ésﬁbg‘o&)
(1) 2.125 (2 25 SB) 2625 4) 275

93. The volume of a cube in cubic feet whose total surface area is 486 square feet, is
486 588 vdhden Jdorddse E?’vgoﬁ" Ko 28 Hodo Bwg), MIBd8Sr@o, 2089

@cﬁmﬁ?)ﬁ‘.
(1) 216 (2) 343 3) 512 A4) 729
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94. By what percentage should the radius of a sphere be increased so that the volume increases
by 200%?

28 AP¥S0 &’mézr DS5H088r0 200% DETe0d T° aﬁgﬂvc;.‘tn owrd)d Tdo
W (B-1)100 @ (V-0 @ (B @ (V3-1)

95. The length and breadth of a rectangle are 100 cms. and 60 cms. If the length increases by
5% and the breadth decreases by 4%, then, the error percentage in the arca calculated
from these measurements is

28 BGIHERS0 B, P&, devyen 100 Do, 60 o.do. FEH Fods’
5% 06008 e, SaBas Sdeny Sods” 4% SSH%de God, VY 6 Fododdariod
KeBoS @ BESHERDH Proghos* SaTEs

(1) 1.4 2) 1.2 3) 1.0 (4) 0.8

96. The sum of all two digit numbers which leave remainder 4 when divided by 11 is
11 3 zrpowsm 4 3h0 $) Soks wose dopge Swgo
(1) 15 2 92 | (3) 400 (4) 428

97. Ifin a leap year, January 8" is a Sunday, the day on August 15" in the same year is
(1) Monday (2) Wednesday  (3) Friday (4) Sunday
2.8 &Y BoSd)Boes® 2550 8 BT o wond Wi Jod)Bods’ wHy 155 B wdlgbia

(1) oo () endado (3) HETYo 4) ws8zdo

98. IfA earns 50% more than B and B earns x % less than A then x =
B %08 A, 50% Q89,8 HoFB R, 200050 A 8oB B, x % $59, 5 D0r8Y widyd x =

1
(1) 66-2,— @ 33 3) 50 @) 25

99. The largest positive integer k such that 12* divides (109)! is
(109)! 12X Do arhoBéatad) A0Y &5 Jporoko k=
@) 50 2) >l (3) 52 (4) 53

» e} o
100. The number of positive integral divisors of 37800 is

37800 Gurgy, &3 TGOS THTO BOg
(1) 24 ' y) 96 (3) 120 (4) 180
_/—,/—_v_
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In questions numbered 101 to 111 pick out the odd thing among the given items.

101 Soo0d 111 S85% :‘6033503 e BHoS* 2o FES® 0T o o)) Jonl So%08.

101. 15, 35,99, 143

(1) 99 @) 143 (3) 35 4) 15
102.  56,34,14,7

n 7 @ 14 (3) 34 4) 56
103. D IYTY

() I 2 P @ T 4 Y
104,  9,49,81, 121, 169, 289

() 49 2 &1 (3) 121 4) 169

e, e A
105. ZA, YE, XI, WO, TU

(1) ZA (2) XI (3) WO “ TU
106. 343, 1331,2197, 4913, 6859, 9261

(1) 343 (2) 2197 3) 6859 4) 9261
107. 1156, 1444, 1764, 2430 |

(1) 1764 (2) 1444 (3) 1156 4y 2430
108. Beetroot, Brinjal, Carrot, Potato

(1) Potato (2) Carrot (3) Brinjal (4) Beetroot

DHSErES, Sosro, 52508, 20ME00d

(1) wmomrédod  (2) s°§08 €3 SoscdH (4) DSBxeS
109. Reservoir, River, Tank, Watershed

(1) Reservoir (2) Watershed (3) Tank (4) River

serdcso, 58, 3D, TLbas

(1) mefobo () TO6RE  (3) amy @ S8

110. 21V23X, 13N15P, 9J11L, SF7H

(1) SF7H (@ YL (3) 13NI5P @) 21V23X’
. I e

111, FOT2, UF0B, VEZ2, ZA26
T zA26 (2) VE22 i -

Rt -
24.¢c
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fa guestions numbered 112 to 114 you find on the 1eft 1wo termsigroup of letters which have

» selation betwcen them. Fill the blank on the right with one of the options given so that the
(T ETUTD s letters on the ng}*i fave the L21ne relation zs the first two.

ds ppla

wirg B o 2 T g P Lo T T e P A AR
;12 Fd o !14 '-:-J’Jv ...a :'4'-‘:’_50:& hléht‘-’-’l\l} '.’ui; LUTLo B OL {-J o s B0 f:"?.d 22252 g”o‘:}oéﬂ
T gl L
k> PR . A S N S e I R Ny PPN Al R Sy RPN 4 o 4
i Ll P AR ;"../.. GBI SEROY Gl Lm0l LT oo 700 reodmad
- [ P -
Y L o / - P, [ Py
2L & 2l 0 Liah w8Ti) Wil ik s Tols
- .

112, FILM 402 MILK - a
(1) 45 (2) 50 %) 55 4) 60

113, MALPIUN: - TOUR:
(13 VUIR 2) WUET oY (3) VAR _ A) WAET

114, CAST :43::RIPE: ~
(1y 36 (2) 46 ) 48 (4) 56

115. Chose 2 suizble option to fill in the blank given below:
Schoo! @ Head Master o2 College @ Principal :: University
(1) Ciovemor (2) Chancellor
(3) ‘v’ir.»:f-th neellor (4) Director

sy

28 ‘:2:' J'M“b;;; ;";B;:‘ ';Eﬁguusdj ‘JQ'_\’& 0

e - G Tsdint 1 ETTY [ inZd éﬁg&c‘gucﬂsm ;

;Té?‘b z e ‘ a#
(1y rde6 ' (2) Bowdd
(Y i SawilB. . ‘4) Howobihd

116. Choose a suitable option to fill in the blank given below:
Amritsar - Golden Temple 22 Ajmer: Darga :: Hyderabad :
(2) Macca Masjid

(1) Chanminar
(3) Golkonda (4) Falaknuma Palace

5 {rbodstots £33 =inBon Jowgsagg

54k . t.-g Boodiso @2&5- do

vl 550

-

P~~~
) Homy, DR

3) ey (4) Desss FBD
P _/N

(1) oiu=r

g

(AN G |
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117. Four figures arc given below. The next figure IS
Tl 500 1808 RSAHD. DB SEHTS ST FH0)

J A

27y 5 N

W (o= P % 3) f @ | X

In problems 118 and 119 there is a relation between the left two figures. Choose a correct
figure from the given options such that the same relation exist with the two figures on the right.

RHeo 118 H8c50 119 0S° AES ©BE), aQS Bods T I $oEg 2.8 Sowodin &b, $E3Y
FA)S B0 F"H0S® ©TB HoWoFSN trodIE ¥ "5399 S pd)Fe Hod JowuFod.

(1Y @ nr

7 2
K/

w /A /\
TR A oA oA

1 ) 3)

-
N1 \/W
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Answer questions 120 to 124 based on the information given below.

In the figure given below the triangular region denotes the persons who read newspaper A.The
circular region denotes the persons who read newspaper B and the rectangular region denotes the
persons who read newspaper C.

Bod Ay dezodo werdorr 1205008 124 HHo 68 JdrgrTer @Fakod.
& BISS a)d HLod* BLherss HBdo o B8 A SB30 drdHob. SEs s @ado
T B8 B D S6BT0D G008, S0k B SRETE Gdo iy 5@8 C I S6ITOI

SV TATSUICTAR
9’

10 . A

o/ (k|
g
20

120. Number of persons who read only newspaper A is

T H08 ASrgd S8IT0 dowg
a) 30 @) 47 3) 54 @) 69

%

=

121. Number of persons who rcad both newspapers A and B is
o H@%es A $0050 B @2 00808 SOIT0 Doy
(1) 45 2 22 (D B2 4) 52

l2i. Number of persons who read only one of the newspapers A, B and C is
A, B 8050 C g 5880 o8 258 Som@d 563 70 dopy

(1) 120 @ 135 (3) 145 4) 85

123. Number of persons who read all three newspapers is

Sardy aros HBST $6370 Loy
(1) 32 2) 22 3) 45 @ 15

124. Number of persons who read either newspaper B or newspaper C is

oy 388 B8w o 5@ Cu63 T8 Jogg

(1) 108 (2) 121 3) 219 14) 174
__.____..-—"_‘-_'_-_'_-_ e —
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125, IF A denotes additien. [ denotes multiplication, = denotes substraction and V denot
Svisionthen 3«3 0O03A8V 2= N

' P - 4 — =
Fofed A 3. a5 T O 8%, Solgama -
ol ol QAFRSST x 8 X058 S Pl ePorten e,
- ot = y s e '-’-*’U'r?IVES:..J‘
‘{ﬂ.‘ﬁﬂ—‘! p‘-"':-\.“ “:‘\ : =" 'I { A j
L - T -~ . 3 —

J

, n L .
AN ‘;-:(_) < (3) =2 w(@) 12

. From point P. 2 man rides a cvele 9 km towards East. Then, he rides the cycle 2 km
towards Nerth. From there, he nides the cycle 3 km towards East. Finally he rides the
TR P I | - -l T 3 . - ;
cycle 3 km towards North to a point Q. Then the distance between the points P and Q is

Four_m o= ~Z, { - - F maf. T - ?\ —_ T e
W ¥ 22 DS PRoA. SoXn3SSE 985 2ES S0.5%. S0, &3 z B
— é-éb ot o s s OQY, BFCI\DIS S.cwo. D & ). &80, € RE € ;.M‘(“-;J“ 2 P

S T ~ 2:. JU‘“J. w-.?:s ;u&yg e S. -
- = ’ - e - ~ &
= £ 5 mam STEI M Er e M M —aahYeE J 2 =\t =5 — = P
o~ 3 ) TS, B8 € Lo’ 45 o > %) e =
2SS X S eHE Bl E&ENSDS 5 8.8, B850 S ). 8. D383, £88503284
~ g —=.5 .5 &= = g T . == , A r oL ":g
3 8. i8S 85, Doy égso S ds. U DochHen P Iodaks Q Jodly Sridxr

_— (] B

| @)

127. A person walks 3 km towards East, then walks 3 km towards South, then walks 7 km

towards West and stops. The distance from the starting point and the end point is (in kim)

2.8 $5§ Sr&DH 3 8.0 SO, SHTE 3 8.2, EaSndD s, 303 DESEIS8

7 8.5, 389, sadiah. 95 SEE Jedes DES Dot Sood 348 SHIDS Do
a5y ErdSn (8. . o)

RSN 2 7 (3) 9 @ 13

128. P+ Q means P is the daughter of Q, P * Q means P is the husband of Q. IfP +Q * Rthen
which of the following is true?

(1) Ris the mother of P (2) Risthe sister of P

(3) Ris the mother in law of P (4) Ris the brother of P

P+Quod sgo Q§ %33 P, P* Quod vgo, Q8 28 p. P+ Q" Keond S
$od F8S* V8 $8507? _

() PsSOR -~ (@) psadR

(3) PsegR (4) P8 st R
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129. Which of the three figurcs from the following five figures A, B, C, D and E form a

squarc?

& o6 asgwas o sbswe A,B,C, D300 Eodd dwds st o8

SHBR0B80E ©B0B00?

RN

@1 |

E

(1) BCD \/6) ACD (3) BCE, (4) ABEg
130. If the paper in the following shape is folded to form a die then
1]
2 e
Ed
6
a) | lics opposite 6.
b) 2 lies opposite 4.
¢) . 3 lies opposite 5. -
Then the true statement(s) among (), (b), (c) is(are) ] .
(1) bonly (2) aonly (3) bandc ¢
& (808 Erdod’ fo 558380 5080 w8 ST BRSIyd
. : .
2[3]4]
5
6
a) 8 s 6 &otnod
b) 28 a8 4 &ot008
) 38 dsddm 5 ool
o, 4 B0
S9¢0 (a), (b), (€) ©&° Heg BSVS (e0) s bl

&
(ﬁjbm&ﬂ: (2) asne®

29-C
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131. Among the given four options, which one when placed in the blank space of given figure
would complete the pattern symmetrically?

aﬂaé H80e5° 7@ '{g@oé‘ 8538 aﬁas‘é T mﬁaé;ﬁw@ﬁs 399 v & Jbo
Fadomr rdYdoed?

(1) 2) 3) 4
J (4)

132. If the image of a clock in a mirror shows the time as 6:30, then the actual time shown by
the clock 1s

wgod® ¥ Khasrdo N, B8Dowo HHocsrA) 6:30 m ¢V Wy ¥ KAdEF0

Ao wHen dDcho

(1) 6:30 2) 9:30 G) 5:30 @) 2:30

133. If P is the brother of Q, Q is the daughter of R and S is the father of P, then how is R
related to S?

(1) Husband (2) Brother
(3) Wife (4) Grand father
Q & P &&dd, R & %558 Q, 500080 P& doid S o8 vy S§ R 250 &8?
(1) &8 (2) &k
(3) 23§ (4) edmrd
T34 IfA is B’s brother, B is C’s sister, and C is the mother of the boy D, then D is A’s
(1) Sister (2) Brother (3) Uncle .o ° (4) Nephew
B ®wng), &6 A, C @308, FE8 B %8050 erendd D &nsg, $9 C, ©o08 wdyd
D, ASwE,
(1) =& (2) FPEEE (3)' ;i:-éaoﬁbgi (4) SoRenas
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133. Showin ga lady, a man said “The son of her only brother is the brother of my wife”, then
the relation between that lady and the man is

(1) the lady is a sister of the man’s father-in-law
(2) the lady is the man’s sister-in-law

(3) the lady is the man’s mother-in-law

(4) the lady is the man’s sister

o8 358 &8 |99 SrHdr “ud JFE FEHI FHH & TR Tk oot ek,
sowd © 98, 3388 Hodg Ko Sidlo

) s Ee. © 3588 Sromd 60

(2) © R = 3588 363 B8 Sodden

(3) s @; s 3588 edmrdd

4) o R s 3588 68

Read the following:
Six students P, Q. R, S, T and U sit on the ground at the vertices of a regular hexagon. Pis
neither adjaceny to Q nor R. S is neither adjacent to R nor T. Q, R are adjacent. U is in the

middle of S and R.
On the basis of the information given above answer the questions from 136 to 138.

§od TR S YHSaa:
sdHhd D@Sdgm P,Q.R, S, T 38050 Uen 3D 28 83 é&;ﬁ &g, 26500 38 ErEyeL.
QB8 RoS p§S PB&. REE Toh 893 SE. Q, Ren BHEHS 7. S,R o D&y

8 t:rcjldn.

= $3rodo sodor RHee 136 %08 138 $8% 23-paren asgod

136. Who sits opposite to T?
T& d&sm J5& SrdyT®? |
o0 () R A U

T, then who is the other one?
Ly Bo& 28,8 &ods?
(3) U 4 Q

I Sl

137. If one neighbour of Pis
P§ a8 L;&ézr;\’: T &o03, ©
Ay S @ R
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13S. Which of the following is not a pair of neighbours?
(1) PandS (M) UandR
(3) QandT ) Tand R
& 1808 T8S* BEERE,S B zob AH?
(1) PXdcsw S (2) USodosn R
(3) Qo T (#) TS08c%0 R

139. There are 39 persons standing in a line. When counted from left to right, A and B arc at
t t T : R e

9" and 27" positions in the line. If C is between A and B and if there arc five persons
between B and C, then the position of C in the line from the left is

30 5000 SE8IE0 8 SOV DO Gad. B H0d K88 ABodSHL Aden Bes
&3 9 B0 27 I FIST sad. C ol 3g8 A S0bcsw B o Sy wobar,
B S08a8» C o o0&y 28068 ;’Jgsigwoéj, WHPE &5 SIS G Sod C qxg), 230
) 21 @) 22 (3) 20 4) 23

To answer the questions from 140 to 142, consider the following information.
Given that

U= 11,2 3y ¢ oy 300K,

A = the set of all multiples of 6 in U,

B = the set of all multiples of 15 in U and

C = the set of all multiples of 10 in U.

Let |S|, denotes the number of elements in a set S. Then

140 So0d 142 56% o BHos SEPTIIOOIEIS & Eob DsIves blos'ol3
U=1{1,2,3,...,500},
A=U&* 6Bk, v hedero D8,

B=U&* 15 B, @) Hedero 3008 320050

C=U&*d 10 Bwg), wd) federe JD8

@l adass. (S| 0RO dW8 S S' BrOFO Hopgdy KrDRERE . SN

140. |AUB|= -

o A A 2 100 @ wo @ 120

1. |(AUBLO) “ s
(1) 126 (2) 124 4) 120 (4) 100

142. The number of integers in U that are divisible by exactly any (wo of ;'2_._':3,"5' is
2,3,5 o&" pdor BoBoBBE SrBHy prpoded U 3’35‘9;05,_'*’.; Nopg
(1) 25 ) 30 3) 35 (4) 24
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To answer questions from 143 to 147, consider the following mlosmation

In a hostel there are 220 students. Out of them 105 read newspaper A, 00 rened new spaper 1,
73 read newspaper C. 35 read both A and B, 20 read both Aand €, 21 pead heath [ amed € anel
9 read all three newspapers. Then

AL e R S ok L ams N Ly - o
143 Zcd 7 380 So RS RACTRANe3IT Q8 & R85 J3dduen BTG
T ot A g - » - ' — T ¥ *
o8 338 {yros* 220 %008 Dovpos ASNIgAE. TOCT 1030l ooy 108 AL G D
- - ol . .
Uy & of

-

P & = - » - . < £ Pyt
BcBoiSd 35 2008 SEHord, A S0k C o 300N 20 208 SdiPards, B Sbutu
Bod08R 23 od SdGord Lbcds Judo Sords I°T) S0SuRr Y A0d Yo g T

90 Jcd oS .IS@S B & SdHordh, 75 o I7; -:-@5 C& wogords A daka By g

o

143. Number of students who do not read any newspaper is

< S0 W88 S8IN Il Bovg

0%

(1) 21 (2) 20 ) 19 (4) I}
144. Number of students who read only one newspaper 1s

3300 of), o0 88 Sgds J83 dogu SoRg

A 141 @) 151 3) 147 (4) 157
145. Number of students who read exactly two newspapers is o

Som Tod IT; 308 63 55‘8530 Dopg

(1) 78 2) 3l (3) 64 (4) 58 .

146. Number of students who read newspapers B and C but not A is
o S|88e0 B, Cen ScoHdr A S350 Joghe Rowg
(1) 23 (2) 20 3) 17 AN 14

147. Number of students who read two or less number of pewspapers (s
Bods Bo wodsa) 859,8 T8 S08e0 g5 Jorae Bow;

M l{).?, (2) 2(” - ('” :ll | |

W48.JIn a college having 600 scienge students, 450 spudents are dong Physies, 300 students

arc doing Mathealics and 400 students are doing Chengnity T s studets 180

students are doing both Physics and Mathematics and 350 students are doing Phasivy and

Chcmiq.try 200 BB e studying all thiee suhjects. Then the sumber of students
doing Scatl; Mathematics and Chenstry i

600 %s0n Dt TH Q0GRMF L vt 450 Dl ia'é'-’im o8 rRs

il > y s _ Enadln . - .
500 L3660 aa\,s A1) fﬂi#‘g@ ﬂ)t‘}m Iﬂn ::\Jt}ﬂ) :}mﬁﬁtg!&? Qs ‘::i .}"‘35} ﬁmﬁﬁ&ﬁd}
Dogdien @08 P50 Sty dedde Budol, 'S0 Sias deryhw

(4 159

80 S306 : | ,
——-g B8E st mgo, 200 D00 gy ¢ A O debgemes
s o B0 ST T2 Dodusy ol 3RY g
) W0y w0 o U
(1) 280 i s o M i
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149. A misfit in the following sequence
1682, 1683, 1684, 1685, 1686, 1687, 1688, 1689, . ..
& (§0B O’ J0FVB o oa
1682,.1683, 1634, 1685, 1686, 1687, 1688, 16§9, S

(1) 1682 (2) 1685 3) 1687 4) 1689

150. In the following figure, the regions 1, 2, 3, 4, 5, 6, 7, 8 are shaded with the colours
Voilet (V), Purple (P), Blue (B), Yellow (Y), Orange (O), Red (R), Green (G) and Maroon
(M) respectively. If the figure is reflected with respect to /; and then reflected with respect
to /,. then the new order of the colours in the clockwise direction
ol SrdS Los Pdres 1,2,3,4,5,6,7, 8o Sedm o oo (V),
Sosak ot (P), dewo (B), 5503 (Y), 32802 (0), 269 (R), 55058y (G) 5080520 087
(M) Sotes® 028. & 3¢rd) 8 [, o STrdgSo B0 v /,hom Sovddso Ty FEm
3By oo ESoo dSg HFS®

(1) ORMGBYVP , ) ORGMVPBY
(3) YORGMVPB 4) VPBYORGM

I51. The population of a town at present is 3,00,000, The growth rate of the population in

: : 1 1
Y} .
successive years is expected to be 6%, 7-2-%, 9%, 10=%, ... of the present population

The expected population at the end of 8™ year from now is

Q

1 1 '
sE8om 6%, 1—%, 9%, 10-%, ... v ' I
Yo, T 5 Yo, 9%, 1 570 e &ocsém:);ﬁa TARTYE. 8 HoSS)EBae Soes

2T LoldT

(1) 5,70,000 (2) 5,50,000
) 22200 @) 530000 @4) 510000

_--"-'"—-—-_____—
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e

g T oy -, AR . "y L]
12, ODSRIve the stattnents given befow

D Th of the wteetor angles of a regular peatagon s S40°,

N OGRYERW
LA SR

e it | R
W Baok estos angle of a regular polygon oba sides is Ll - --] x,

s hs RRRANRANK
H !

(=) (s e but (1) is fulse

() and (1D ave both trwe
(B (D and (1) aro both talse

&) (R s false and (1D s ttae

o ' 2 o ol &
S MRANTON QNN SWAW,

p)
X e o S o occh “
) roosar de of Eo doshd @8 godOf o Ll ——] I

N e e -
n

e
Y (D (D o2 Jode Jd50 Q) (D¥Sg0, (1) wdsgo
3) (D sssgo. (IDRgg0 (D) (D, (1) &0 Bodor eideg0

@ 25 (3) 55 \/(_[) 65

(45
e ————= . F
he positions of A and B from lelt are seventh and

ns stand in a row t
ly. Another person C standing between them has exactly five
. g those stunding between A and

154. When thirty perso d
anty seventh respectively. &4 :

;3‘: ;ﬁ;:getwecn B and C. If P is the middle person amon

e  ron of P from the leftis |

~ position of P from _ ‘. »

(.3 t&en’th;li ¢ 55" Qoadm WORS A B e 5550 AESBY S0 Sdr IES,

2 WS :wé‘ s, 0 S0 degys) €8 BE S0 PO ol Sgiyen

SEEIEE ;\‘& o o dong S8 P sl wond DEHPY $08 PYsy Sopg

;)um%d)- ) 13 G) 14 (42 15 B

(ln IL’//——-\_———M
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¢ as the cost of 5 pencils. If it costs Rs. 34 for buying 4 pens
f7 pens and 4 pencils (in rupees) is
7 ?of‘()n)% 55¢r08 8». 34 wond

155. The cost of 2 pens is the sam
| and 7 pencils then the cost 0
-, o : 4 q@;&)nlex),

E 3o, 5 2YY S0 Jd;rS0. 4,
2 wde &0 %) Az

7 20y, 42N B SLrAEa0g PAY 5 o
(1) 74 (2) 47 (3) 43 4)
o

[:10 pm reaches its destination at 2:20 pm the same day. If

i starting at a station at .
[56. A train starting h then the distance (in kms) travelled by the train is

the speed the train is 48 kmp |
$o5* 1:10 pm 8 maend0s Yoo (§ad8 ©BG% 220 pms D08, & Bew

LEBA
;ﬁogﬁobg\) 48 8.5, @ond @b [POSTe0 32S Srdo (8.20.087)
1) 60 @) 72 3) 84 @ 56

P

157) Arwater giass in the shape of a frustum of a cone of height 14 cm. The diameters at the
| cnds are 4 cm and 2 cm. Then the volume of the glass, in cubic centimeters, is

22}
Take ©1=—
(toke 5=

€ fomy 3§ Erdoss® &F) VHTH A% 14 20.2. 0 DL Tgrer 4 0.2
22, 83 ?oé)
£580352 2 200.20. @D & T 2EHBSITE0, PSY Doldtags” | T = == &
4 5
—_— 9 ol
(1) 78} ) 23

gy . 1
W 106
P 2"3 | 4) 3

J

158. The students of a class are standing in some rows. All the rows have the same number of
students. If 3 students are added in each row, then there will be one row less. If three
students are removed in each row, then there will be two rows more. Then the number of

students in the class is
2.8 $8K85* T ge0 §Y SEDPOS E’Jenr)gtlm ©R) SEHVOS* DI HopgS* 36‘5%@6353-
[}

- 817 Both Siden DéHEToN. B SShasty dergdie Do
DR i
(1) 18 ) 24 B) 36 @), 4%

I
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GDP growth rate of some countries for two years 2015-16,2016-17 are tabulated below. Observe
the table and answer the questions 159 and 160.

Bodd Boddioren 2015-16, 2016-17 0% Hozodod &) d=ze GDP S)BOLo Bod HYES
FohB0EESRo08. 5485 K200 159 Sr80sw 160 ©Hos RIreTdSc0a.

Country 2015-16 2016-17
G%o

A 6.6 8

B 7.3 > 7.4
& 12 5 3.7
D 4.4 y 4.7
E 2.3 b 34
F 3.1 » 2.6

. The country which witnessed the highest percentage of GDP growth rate next to C is
Cedhad vd508 GDP &hkde 7o) $37&d BHo%oK) d¥o
A 2 E (3) B 4 D

160. The country that witnessed the lowest percentage of GDP growth rate is

wdgey GDP 5)50tnd $3c Bdosos) 5o |

(1) C 2 D 3) E 4 F

161. The number that does not suit in the following sequence is
& §0b F&S° D0TFO Jopg
5042, 5043, 5044, 5045, 5046, 5047, 5048, 5049, 5050, 5051, ...

(@) 5020 ' 1 4) 5048
) 504; ) 5_;._ x\;;) 505 ) 3
162. If T =2_@__—.!'_2_)-, forn=1, 2, 3, ... then 1=
" op(n+1)
T :2(n+2)’ n:l’ 2, 3, Aw @O.Da @9:33& TG =.
" n(n+))
8 5 8 8
g o ' — 4 .
0 3 @ 19 . ® % 6 21
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Answer the questions 163 to 166 using the following informatjon,

Given that

1 USD =70.99 INR, 1 AUD =0.708 USD, 1 EURO = 1137 USD, and I NZD = 0.679 ysD),
(Here USD (U) = US Dollar, AUD (A) = Australian Dollar, EURO (E) = European Unijon
Currency, NZD (N) = Newzealand Dollar, INR (I) = Indian rupce)

& (808 JSrTdindy GOArAod 163 Sood 166 585 HHOK SSreTws (Tekbes,

1USD=70.99 INR, | AUD =0.708 USD, | EURO = 1.137 USD, 0% 1 NZD =0.679 US)
oD a%WaIB.

(2,6 USD (U) = 90085 @od, AUD (A) = 530008 o, EURO () = ahrsoss

U wiQOdded

SrAHS (B350 (§3Q)), NZD (N) = Srg2erod e, INR (1) = o384 drdron)

163.

-

Increasing order of exchange values of INR (I), NZD (N), EURO (E), AUD (A) with
USD is

USD &' INR (I), NZD (N), EURO (E), AUD (A) © $r6§ dense wstiirm o

(1) LN,EA (2) E,I i @ LNAE 4) LEA/N
164. The currency among the following which has the highest exchange value with EURO is
€ 808 TS* oSS wdghE SrEEY Dens EONS 8550 (83Q))
(1) U 2y 1 3) A (4) N
165. The currency which has the least exchange value with USD is
USD & wdgey $68 dend Ko |Bdg0 (83:))
(1) N 2) A By E 4) I
166.

The currency among the following which has the highest exchange value with AUD is
Bod o83s* AUD & wEgHE SrdE duds Ke &S50 (88))

1) U @ I 3) N e

_-—‘_‘—-_"\-____

1471 In a certain code if the word WRITE is coded as 136 and the word STUDY is coded 157,

then in the same code the word ‘READ? i coded as
28 8'Gofes® WRITE od H&'?) 136 mige STUDY e sy 157 i 86 4R, woydd
©B & ‘READ’ v 5er8 B |

W & @ 30 ® 15 . @ 12

38.C
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168. Inacode ‘Iungu:lg}:‘. the word *MISTER i coded as SGWWNS and the word ‘FOREST” is
coded ns ‘UUHIVTL, then the code for the word ‘PERSON’, in the same code language is

o€ B8 wrid*, ‘MISTER' o3 Hard) SGWWNS i, ‘FOREST’ &3 o) ‘UUHVIL,
midor §'0 U, wdydo wd 56 arid® Bo ‘PERSON’S 56

(1) OPVUIW 2r OQYVIV

(3) OQWVKV (4) OPWUKW

169. In a code the letters of the English alphabet arc coded by numbers as follows.
A 1,Z<~>2,B<—>3,Ye—>4,C<—>S,X(—)6...
Then the code for COME TODAY is
2§ 866 wolf wTred Hopged' Bod G0 56 B8,
Ao 1,Zo2, B3, Yol Cos,Xe06...
VDY EOME TODAY &3x0%), §°6
(h 14,24,7,1 4, 5,24, 2588
2) 3 24,25,9 Xa,24,7,1, 4
(3) ’5_,21,}5,2_ 12, 24, FEIEEE
(4) 5,24,25, 9 12,26, 451,
170. Ina certain code language HYDERABD is coded as KBGHUDEDG. Then WARANGAL
will be coded in that language as

ﬂ-(‘yﬁ

»§ §6 g HYDERABD 2 KBGHUDEDG §6 B, ©ByE ©F THRS®
WARANGAL &»¥, 56

(1) ZDVDQJIDO 2 M]Dd
(3) zDUDPJDO 4y ZDUDQKDO

171. Ina certain code language, if AGRA is coded as 1493241, then the code of BHADRA in
that code language is :
o€ 66 as® AGRAGY, §6 1493241

§&

, VOB, @HYE wd §6 ¥7as” BHADRA &%),

() 4641163241 (2) 4641162341
) 4646113241 (@) 464324111
/ e —

39-C
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In a certain code language, if ADILABAD is coded as 76547276 and WARANGAL is
- cogiccl as 37170874, then in the same code language BANGLA is coded as

L€ B8 s’ ADILABAD &x8), g8 76547276 08050 WARANGAL Sog), 5§
17170874 wond ©8 §6 as’ BANGLA Gwg), §6
(1) 271347 (2) 270437 (3) 273047 @) 270847

173. 1f the code for Ais 1, that of B is 3, that of Cis 5, . . ., then the code for G is
& B&S' AJ 1, Ba3m, C5m,...,ardy odyd Gang 56

¢ 13 2 15 G 19 4 17

174. 1f PRASAD is coded as 123435 then match the words of List-I to the codes of List-II.
PRASAD & 123435 m §6 @) wiyd @de° - 1 &0 dzed =de - 11 &9 EFhed*

—a‘a@%&b&g.
List - [ List - II
e - e - 1
A) SARADA ) 132353
B) DASARA ) 314323
C) PARADA I11) 432353
D) APSARA IV) 534323

The correct match is
BOGHS 56
A B & D
(1) 1L \Y% 11 [
111 \Y I - |
((%3 Vooom I
4) v I1I [ 11

]

~\

—

If — denotes addition, + denotes muitiplications and x denotes division, then
{39 x13)+6] -8= *

175

—J080a), + KHreeseoR), X &me’.ﬁmg)gl Sy, wydd {(39 X 13)+6}-ﬂg£- .

x, 26 (2) 62 3) 34 ». -(4) 2

e

40-C
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176. Read the following:

In a certain code language

MONKEY is coded as LNMJDX then consider the following

Assertion (I) 1 The code of FRANCE is EQZMBD. '

Reason (II):  The pattern of the given code is A = 7. B — -

(1) (I) and (II) arc correet and (Hivis the correct cxplzu’ugim: (?l; (([:)—) R
2) () fmd (I) are correct and (1) is not a correct explanation of(‘I)

(3) (D is true, (I1) is false. '

(4) (D) is false, (II) is truc.

& 808 W&SJ0d:

o8 56 rdest

MONKEY & LNMIDX r §'80R 8% & (§0d o8 H8redood

SScSo (1)1 FRANCE 86 EQZMBD.

s*de00 (II): RS w38 (pattern) FE A —Z,B5A,C—-B,D-C, ..
B 1), () eo sevgen, (1) 8 $35 258 (IN).

(2) (I), (I) e Sergen, (1) 8 IS dH8ed (IT) s~&.

(3) (I)3&go, (II) wi8go.
(4) (1) wd&go, (II) S&g0.
In a code language BREAK is written as XHUYO. Then, FLUTE is coded in that code

LEL,

language as
o€ '8 ovies® BREAK Q@ XHUYO mr (graneh. @9k, & §'6 rdes® FLUTE G, §6

(¥, TNEFU (2) TMDEW (3) UNFEV (4) UNEFW
If in a code language DREAM is coded as FTGCO, then CURSE is coded in that code

178.

language as
o€ 86 wraes® DREAM D FIGCO m 86 &%, elyd o 88 i CURSE &%, §'6

(1) EVSWH (2) FXUVH (3) FYTUG “T EWTUG

consonant of English alphabet is coded as the immediate next consonant
e reviol o i ' uestions
us vowel. Based on this information answer q

In a certain coding cvery :
and each vowel is coded as 1ts previo

179 to 181. ' iz 3 53 S&aTd TrenmaT, |08
o2 fio ©E83rosd P8 T a0k ol IRIoLS 2% S T
2§ S8R HEBS" RON B2 £ 179 &06 181 5650 Ko

v T8 52006%) VYT §5 BT, & dSrordo sFom
BHOH HSrerSoIges. - |
179. The code for the word ‘MANGO’ is

" () NUPHI

‘MANGO’ 5008 86 . SO
(1) NEPHU (2) NBOHP . ) NUOE:.
-C

)
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180. The string of letters that is coded as ‘CDEFG’ is

‘CDEFG’ i §6 tcfag ©gisre

(1) BCAEF (2) BCIDF (3) BCEIF () BCADF
181. The code for the word ‘LITMUS’ is

LITMUS’ 578 §°6
() MEVNAT  (2) MEVNOT (3 MEUNVT (49 MEUNUT

estions from 182 to 191 you find a question
You have to decide whether these statements

Data Sufficiency: In each of the following qu
followed by two statements labelled (I) and (II).
answer the given question.

Mark your options as
(1), if statement (1) alone can answer the question,

(2), if statement (II) alone can answer the question,

(3), if both statements (I) and (II) are required to answer the question,

(4), if statements (I) and (II) together also can’t answer the question.

BT 0% HogHd 1 8ol &) BHeo 182 S08 191 568 Ko B8 PHSE .8 BY), ATl Tod

oSsTeo (1), (1) asgdsoonss. ai)d EH & PIvTed 232035 HoIAr BE' Y Agonord)

&od. ad)d PHH DI, AT 8

B5sS0 (I) Srgh 5028 d dSrwso (1) @,

B350 (1) SrE@d 503 J ddrwso (2) o),

BSsaes (1), (1) eo Bodr ©535308 (3) ®Q,

iéﬁa‘zo(l), (II) © B0&0EA &IBFACISNBE JS3rgrSsn SBEFE J JSreSo (4) 9
80250:300. !

182. Who is tallest among A, B, C, D, E?
I) Dis taller than B, but shorter than E
II) Cis taller than both B and E but shorter thar{ A
A, B,C,D,Eo¢® @8 &rhd J56?
I) Dod 58 BEay) &40, S E Sy e, 7
II) B,Eo &) C&dns, 559 Aé‘“:l 8 o

'183. What is the volume of the right circular cone?
I) Base radius of the cone is 12 ¢py, ‘
I[) Semi vertical angle of the cone j5 45
oonS)B0H fopod) DIDVSr0 ogo |
) Fogod) g, dragwrdo 127’00.5;
II) FomoH Bog, 2§ S'eo 450 o

—— __\\‘ T s T B
42_C i 1 ' -
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What is the total number of divisors of the positive integer #?
[)  nis product of distinct numbers.
II) nisthe cube of a prime numbers.
G3Yrgro8o n B»E), Ingo rasrY Jong Jod?
——

) n, 88 Sopge ©Zo.
II) £, a8 vgreag dopg B, Hodo.

185.

Who is tallest among A, B, C?
I) Ais taller than B.
II) B is shorter than C.

A, B, C o¢* w8508 FEHd 3627
[) Bss) ARdddad.
) Cso) Bargard.

186.

What is the rate of simple interest?
) Principal is Rs. 3,000
) Interestis Rs. 450

8 $& G Dod?
) oden & 3,000

1) $& & 450

187.

M) methes@RsoRy o |

Let m and » be positive intege

rs. Is n even?

) mxnisan odd integer.
) m+nisan odd integer.

m 3o8as0 n e S8

nH8 Hopg wHsion?
O;OS"’UJ'—_’—‘__ g ‘

D % nof B DoDg. >

188.

What is the arca of the rig
I) The angles of the triang

II) Lengthofthe hypotenuse is
o HZ0BGITTY @abmo B

oo § o BT
) @zzfe® 90°, 30°, 60
i 43-C

ht angled isosceles triangle?
le are 90°, 30°, 60°.

15\/5 cm.

& 3T Jod?
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“1he arthmetic progression?
. ten terms ol the an
the sum of the
189. What is

) Theh first term 18 10.
[y The tenth term is 2,
wobEAE 0 S8 sove oo Jod?

) awss sdo 10.

H) 585 ddo 2.
- ———--‘-l—l—ﬁl—--‘--—_—ff_ _—

190. Is :\ a sister of B?
) s asister of A
) A is father of two children P and Q

B A0 vdon?
) A B&S0
) P Qed 238 byot Adod

191. Did the person A get profit?
[)  The person A purchascd 9 bananas for Rs. 30.
[[) The person A sold 8 bananas out of 9 bananas for Rs. 32.

AT ég <o SHoo?
D 9essagd A30 &0 Bapd.
) 9esssgs' 8esisigio A2 drosh wird.

9, - - . s
192. The missing terms in the following sequence in the order they appear arc
‘I -

5 50l J3¢° 60008 dren ©d 58) SHes*
. L9, W, 2,3 E 0,5 1,

1) N,4 )
r @ N7 3) N,6 @ 52
& term of the sequence 1, 3, 6, 10, 15,  ,28,36is
el :
sgleo |3 46,10, 15 . 28,3 ,
W 6 .
B i L4y 1(2) ” St 6‘~oa:5 ado

—y

o ' 3
](j\‘ e o T {(3) 2 l I ‘5-41’-3_'—/"
TRe nexy germ 4, s the sc(]ucncca“\\_ =

Y | »FL 1L o
NS S e L LOis -

R
w“’ U ¢k it.LOu c:sa S0

(2) 0Q 4 0S

T B & | @ T

'Hm
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6% £ A i B s < 'zu e ol T ._5
‘\(’,i, }fll P By pes ",, i Ja.' o AP S0 o "‘—_, -(-‘ 2 _._ i

—4 e -

g — —_— —

PP Ll

e T l

—
M
| wesy
| e, | W

v bie Vsn v SRt gy o Y

- £ 3=
!(}f!’ Fprdr(p/! .r.—rfr‘l"'?'{d'\!ﬂ"' e £ Cf E_G.A—a-‘\i ->

. L P
o gl 7 l('{‘! LT LA
Liid Bty 15, »-(., 2. ( 2, .p. -2 L ot
f"‘:i

(1y € 72) O (3) P @ R

t s 200. In the figure given
fBascd on the below information znswer ++e guestions from 197 to 20

ts graduates, circle
below the square region represents post- -graduztes, the rectangle represen i
epresents private employees while the iriangle represents Government mpIOYEes. -
Lheds d5-ood3go8. 808 SLod

Seds, SHFo @355 aﬁ"gﬁav.‘&

P af o . A (e et
2 Ahsfitness, BOEBIE BRSO SJ[FT

‘Jli: ; . A - o -
Lol Btine GES LS feils Brlinnes.
2
- \ : /
3
B = X 10
_ 6
i N RS
/ N\
i in Government or private
resenting non-graduates employed either!
T n/regions rep
197, The region/reg! P Loy

is/are 2) 9 (3) - 2and9

bl £ JO:J:J?J ﬂrﬁ‘&”‘w EL “’“’5@5’&” 5’;}3 .
4 o ‘ %58

sy BT (2 (3 2;_,,,-«-"

B 2 s

45-C

69 wﬂ)o?ﬁ PBES»/(HBTen
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198. The region 4 represents
(1) Graduate Government employees

(2) Graduate Private employces
(3) Post-graduatc Government employees

(4) Post-graduatc Private employees
Hddo 4 &roBd

(1) 2T PEES & &'gen

(2) HLHE (P G&gben

(3) NIFES ILFHS @S G &g
y)' etDéE‘gd $§_z::5_@5 G.i_éé.w e Gigren

199. The regions representing Post-graduate unemployed are
E5'38 HLFBoS D& o Jordod o e

(D 5,6,7 (2) 2,0 3) 6,7 A4 5,7
200 1,5, 7 and 10 together represent

(1) Unemployed graduates (2) Employed graduates

(3) Unemployed post-graduates (4) Employed post-graduates

1,5,7,10 0 505 Jrdod

(1) NEE'GH Do (2) HEs s&ghes

m/ D' IE'ES S (4) PS8 &' ghen

46-C
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